
!  
www.clutchprep.com 

!

MICROECONOMICS - CLUTCH

CH. 5 - CONSUMER AND PRODUCER SURPLUS; PRICE CEILINGS AND FLOORS



CONCEPT: CONSUMER SURPLUS AND WILLINGNESS TO PAY 

 

● The ___________________________ represents the willingness to pay (reservation price) of consumers. 

□ A consumer surplus exists when someone is willing to pay _____________________ than the market price. 

 
𝐶𝑜𝑛𝑠𝑢𝑚𝑒𝑟 𝑆𝑢𝑟𝑝𝑙𝑢𝑠 = 𝑊𝑖𝑙𝑙𝑖𝑛𝑔𝑛𝑒𝑠𝑠 𝑇𝑜 𝑃𝑎𝑦 − 𝑀𝑎𝑟𝑘𝑒𝑡 𝑃𝑟𝑖𝑐𝑒 

 

□ We can also think of willingness to pay as the ________________________________ to the consumer. 

 

 

 

 

𝐶𝑜𝑛𝑠𝑢𝑚𝑒𝑟 𝑆𝑢𝑟𝑝𝑙𝑢𝑠 = 𝑇ℎ𝑒 𝐴𝑟𝑒𝑎 𝐵𝑒𝑙𝑜𝑤 𝑡ℎ𝑒 𝐷𝑒𝑚𝑎𝑛𝑑 𝐶𝑢𝑟𝑣𝑒 𝑎𝑛𝑑 𝐴𝑏𝑜𝑣𝑒 𝑀𝑎𝑟𝑘𝑒𝑡 𝑃𝑟𝑖𝑐𝑒 =
1

2
𝑏ℎ 

 

           Original Consumer Surplus                Consumer Surplus After Price Decrease 

     

 

Consumer 
Willingness 
to Pay ($) 

Consumer 
Surplus 

when P=7 

Consumer 
Surplus 

when P=5 

Consumer 
Surplus 

when P=4 

Cartman 8 
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EXAMPLE: The graph below represents the market for funky-fresh rhymes. 

 

 
At a price of $3,000 per funky-fresh rhyme, what is the consumer surplus? 

a) $750,000 

b) $1,500,000 

c) $2,250,000 

d) $3,000,000 

 

 

 

 

PRACTICE: Use the graph for funky-fresh rhymes above. If price increases from $3,000 to $5,000 per funky-fresh rhyme, 

what is the change to consumer surplus? 

a) $500,000 increase 

b) $500,000 decrease 

c) $1,000,000 increase 

d) $1,000,000 decrease 

 

 

P 

Q 

$5,000 

$3,000 

500 750 1,000 

$7,000 

$500 
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PRACTICE: Kanye West is ready to create his next hit single. He knows that he is willing to pay up to $3,000 for a funky 

fresh rhyme, and that he will need a total of ten funky fresh rhymes to create his hit single. After rounding up his best 

ghostwriters, he summarized the following schedule. If Kanye values all funky-fresh rhymes equally, what is his maximum 

consumer surplus? 

a) $6,000 

b) $12,000 

c) $24,000 

d) $30,000 

 

 

 

 

 

 

 

PRACTICE: The demand curve for Nickelback’s new album is downward sloping. At a price of $2, nationwide demand is 

100 albums. If the price rises to $3, what happens to consumer surplus? 

a) It falls by less than $100 

b) It rises by more than $100 

c) It falls by more than $100 

d) It rises by less than $100 

 

 

 

 

 

 

Ghostwriter 
Price 
per 

Rhyme 

Quantity 
of 

Rhymes 

Lupe Fiasco $6,000  10 

Rhymefest $3,000 7 

Consequence $2,000 4 

Brian $1,000 1 
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CONCEPT: PRODUCER SURPLUS AND WILLINGNESS TO SELL 

 

● The ________________________________________ represents the willingness to sell of producers. 

□ A producer surplus exists when someone is willing to sell for __________________ than the market price. 

 
𝑃𝑟𝑜𝑑𝑢𝑐𝑒𝑟 𝑆𝑢𝑟𝑝𝑙𝑢𝑠 = 𝑀𝑎𝑟𝑘𝑒𝑡 𝑃𝑟𝑖𝑐𝑒 − 𝑊𝑖𝑙𝑙𝑖𝑛𝑔𝑛𝑒𝑠𝑠 𝑡𝑜 𝑆𝑒𝑙𝑙 

 

□ We can also think of willingness to sell as the _______________________________ to society. 

 

 

 

 

𝑃𝑟𝑜𝑑𝑢𝑐𝑒𝑟 𝑆𝑢𝑟𝑝𝑙𝑢𝑠 = 𝑇ℎ𝑒 𝐴𝑟𝑒𝑎 𝐵𝑒𝑙𝑜𝑤 𝑀𝑎𝑟𝑘𝑒𝑡 𝑃𝑟𝑖𝑐𝑒 𝑎𝑛𝑑 𝐴𝑏𝑜𝑣𝑒 𝑡ℎ𝑒 𝑆𝑢𝑝𝑝𝑙𝑦 𝐶𝑢𝑟𝑣𝑒 =
1

2
𝑏ℎ 

 

            Original Producer Surplus                  Producer Surplus After Price Decrease 

     

 

Producer 
Willingness 
to Sell ($) 

Producer 
Surplus 

when P=7 

Producer 
Surplus 

when P=5 

Producer 
Surplus 

when P=4 

Bart 8 
 
 

  

Lisa 6 
 
 

  

Marge 4 
 
 

  

Homer 2 
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EXAMPLE: The graph below represents the market for funky-fresh rhymes. 

 

 
At a price of $3,000 per funky-fresh rhyme, what is the producer surplus? 

a) $937,500 

b) $1,125,000 

c) $1,875,000 

d) $2,250,000 

 

 

 

PRACTICE: Use the graph for funky-fresh rhymes above. If a shift in demand causes equilibrium price to increase from 

$3,000 to $5,000 per funky-fresh rhyme, what is the change to producer surplus? 

a) $2,250,000 increase 

b) $2,250,000 decrease 

c) $1,312,500 increase 

d) $1,312,500 decrease 
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CONCEPT: ECONOMIC SURPLUS AND EFFICIENCY 

 

● Economic surplus is the ____________ of consumer surplus and producer surplus. 

□ The economic surplus is maximized when the market is _______________________________ 

 

 

 

What if the market is not at equilibrium? The inefficiency creates a ______________________________ 

 

 

 

● At Equilibrium, marginal benefit to the consumer equals marginal cost to the producer. 

□ We reach Productive Efficiency because competition forces suppliers to minimize costs. 

□ We reach Allocative Efficiency because the correct quantity of goods is being produced relative to other goods. 

 

 
 

Equilibrium Low Price 

Consumer Surplus 
 
 

 
 

Producer Surplus 
 
 

 

Deadweight Loss 
 
 

 

MICROECONOMICS - CLUTCH

CH. 5 - CONSUMER AND PRODUCER SURPLUS; PRICE CEILINGS AND FLOORS

Page 7



● Deadweight Loss occurs in cases of underproduction and overproduction. 

       Price too low; Underproduction           Price too high; Overproduction 

    

 

● When a market fails to be efficient, it is called a __________________________ 

□ Sources of market failure: 

 - Price or Quantity Regulations 

 - Externalities 

 - Monopoly 

 - High transaction costs 
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CONCEPT: QUANTITATIVE ANALYSIS OF CONSUMER AND PRODUCER SURPLUS 

● We are sometimes asked to calculate consumer and producer surplus using algebra. 

□ Steps for calculating consumer and producer surplus at equilibrium: 

- Step 1: Find Equilibrium Price and Quantity by setting QD = QS 

- Step 2: Find the “axis price” when QD = 0 and the “axis price” when QS = 0 

- Step 3: Calculate Consumer and Producer Surplus using the following equations. 

 

 

𝐴𝑟𝑒𝑎 𝑜𝑓 𝑎 𝑡𝑟𝑖𝑎𝑛𝑔𝑙𝑒 =
1

2
∗ 𝑏𝑎𝑠𝑒 ∗ ℎ𝑒𝑖𝑔ℎ𝑡 

 

𝐶𝑜𝑛𝑠𝑢𝑚𝑒𝑟 𝑆𝑢𝑟𝑝𝑙𝑢𝑠 =
1

2
∗ (𝐷𝑒𝑚𝑎𝑛𝑑 𝐴𝑥𝑖𝑠 𝑃𝑟𝑖𝑐𝑒 − 𝑃∗) ∗ 𝑄∗ 

 

𝑃𝑟𝑜𝑑𝑢𝑐𝑒𝑟 𝑆𝑢𝑟𝑝𝑙𝑢𝑠 =
1

2
∗ (𝑃∗ − 𝑆𝑢𝑝𝑝𝑙𝑦 𝐴𝑥𝑖𝑠 𝑃𝑟𝑖𝑐𝑒) ∗ 𝑄∗ 

 

 

EXAMPLE: Calculate consumer and producer surplus using the given information. 

 

 

 

 

 

 

  

QD = 3,000,000 – 1,000P QS = 1,300P – 450,000 
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PRACTICE: The supply and demand curves for a product are as follows. What is consumer surplus in this market? 

a) 6.25 

b) 12.5 

c) 20 

d) 22.5 

e) 25 

 

 

 

 

 

 

 

 

PRACTICE: The supply and demand curves for a product are as follows. What is producer surplus in this market? 

a) 6.25 

b) 12.5 

c) 15 

d) 20 

e) 25 

 

QD = 45 – 2P 

QS = -15 + P 

QD = 45 – 2P 

QS = -15 + P 
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CONCEPT: PRICE CEILINGS, PRICE FLOORS, AND BLACK MARKETS 

● A price ceiling (or price cap) is the legally determined ______________________ price for a good. 

□ For a price ceiling to be effective, the price ceiling must be _________________________________ 

□ Effective price ceilings cause a ____________________ in the market. 

□ Common price ceiling topics: Rent Control and Rationing Coupons 

 

 Ineffective Price Ceiling     Effective Price Ceiling 

    

 

 

EXAMPLE: Consider the following graph. A price ceiling of $20 would cause: 

a) A surplus of 500 units 

b) A shortage of 500 units 

c) A surplus of 1,000 units 

d) A shortage of 1,000 units 

e) No effect 

 

 

 

 

 

 

500 800 1000 

20 

25 
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PRACTICE: When the government imposes a binding price ceiling, it causes 

a) The supply curve to shift to the right 

b) The demand curve to shift to the right 

c) A shortage of the good 

d) A surplus of the good 

 

 

 

 

PRACTICE: A price ceiling will have no impact on a market if it is set 

a) below last year’s average price 

b) above the equilibrium price 

c) by knowledgeable government officials 

d) below the equilibrium price 

 

 

 

PRACTICE: All of the following are problems associated with price ceilings except: 

a) chronic excess demand 

b) an eventual decline in the number of suppliers 

c) the need to use ration coupons to purchase a good 

d) chronic excess supply 

e) landlords failing to maintain rent-controlled properties adequately 
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CONCEPT: PRICE CEILINGS, PRICE FLOORS, AND BLACK MARKETS 

● A price floor is the legally determined ______________________ price for a good. 

□ For a price floor to be effective, the price floor must be _________________________________ 

□ Effective price floors cause a ____________________ in the market. 

□ Common price floor topic: Minimum Wage Laws   

 

  Ineffective Price Floor       Effective Price Floor 

    

 

● Illegal trading of government-regulated goods occurs in a black market.  

□ Hiring workers at less than minimum wage 

□ Renting apartments above the rent-controlled limits 

□ Buying or selling illegal drugs 

 

EXAMPLE: Consider the following graph. A price floor of $20 would cause: 

a) A surplus of 500 units 

b) A shortage of 500 units 

c) A surplus of 1,000 units 

d) A shortage of 1,000 units 

e) No effect 

 

 

 
500 800 1000 

20 

25 
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PRACTICE: Which of the following statements regarding the expected effects of a price control imposed on a competitive 

market is false? 

a) A price floor above the competitive equilibrium price will result in a surplus. 

b) A price ceiling above the competitive equilibrium price will result in a surplus. 

c) A price ceiling below the competitive equilibrium price will result in a shortage. 

d) A nonbinding price floor will result in a quantity exchanged that is equal to the equilibrium quantity. 
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CONCEPT: QUANTITATIVE ANALYSIS OF PRICE CEILINGS AND PRICE FLOORS: FINDING POINTS 

● We are sometimes asked to calculate quantity supplied and quantity demanded with price floors and ceilings. 

□ Steps for calculating quantity supplied and quantity demanded with price floors and ceilings: 

- Step 1: Find Equilibrium Price and Quantity by setting QD = QS 

- Step 2: Confirm that the price floor/ceiling is “effective” 

 > A price ceiling must be ________________ equilibrium price to be effective 

 > A price floor must be ________________ equilibrium price to be effective 

- Step 3: If effective, plug the floor/ceiling price into each equation and solve for QD and QS 

- Step 4: If not effective, the answer is the equilibrium price and quantity 
 

 

EXAMPLE: Calculate quantity supplied and quantity demanded if a price ceiling of $1,000 was put into effect. 

 

 

 

 

 

 

 

 

 

 

 

 

 

QD = 3,000,000 – 1,000P QS = 1,300P – 450,000 
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PRACTICE: The supply and demand curves for a product are as follows. What is quantity demanded if a price floor of $21 

is set? 

a) 2 

b) 3 

c) 4 

d) 5 

e) 6 

 

 

 

 

 

 

 

PRACTICE: The supply and demand curves for a product are as follows. What is quantity supplied if a price ceiling of $4 is 

set? 

a) 150 

b) 200 

c) 300 

d) 450 

e) 600 

 

 

 

 

 

 

 

 

 

 

 

 

QD = 45 – 2P 

QS = -15 + P 

QD = 600 – 100P 

QS = -150 + 150P 
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